HERUVRAEGHER h{E28&8A
gfi AH A3 il HAEHHE =i5
. 9:30 R=——F> 2 |[—]| 3 S EEET
i 1B13m 1120 AN o|—]2 727G BERT
- 9:30 EAEH 71— 1 TERARF ERAR—YAEZ
11:20 EErmh 1 [—]| 4 &R -Eh ERAR—YNEZ
i 9:30 HEEEF 2 |—| 3 ISR -EH BEET
- 1Ao7g |20 F#rdn 1 [—[ 2| fE#RAS BERT
o 9:30 R=——k> o(—]| o0 BAAE R BEmET
= 11:20 EEmET 1 —] 4 7TC BEAT
- 9:30 A § 0|—|5 &R - B B R+
=| 4g20g | 1120 g N 11— 1 R=—k i%ﬁq:
- 9:30 TERAG 2 |—[ 1 727G BERT
11:20 STk 0o l—[1 HEEH EERT
. 9:30 EAREf 2 | —| 1 e T
N IET BaET 4 | —| 1| HE#SRKSD EEmT
" 9:30 y i 1]—1|0 7>2T7C ERAR—YNE L
11:20 it /NGS 1]—[ 8 BR-Eh ERAR—YNE L
. 9:30 R=—r> 1|—| 0| {EWAF EEaTf
; smel  |1:20 BaET 2 [—1 4 A% EEmT
p 9:30 F72TC 1|—]| 2 R - Ed ERAR—YAEZ
11:20 /N 4 |—| 1 BEET ERAR—YAEZ
. 9:30 HEEF 1 |—| 2 727G EEaTf
?E N IET R=—F> 6 |—| 1 =Tl EEmT
é’% 930 | HE#MAD [1|—|2] #BR-E¢ Ef
11:20 L#ich 3|—|0 EAE G B
N 9:30 HEWRAT | 4[—] 3 BEEEF BEET
i SE1E 11:20 Tl 2 | —| 2 Eirdh HEET
P 9:30 EAEH 11— 1 7270 ERAR—YAEZ
& 1120 | HR=—F> |1 |—|3]| HER-E& ERAK—YAEE
e 9:30 R=—k> 11— 1 e BE®ESD
o 7m21E 11:20 g N 2 |—|o 7270 #sﬁ%im
- 9:30 EAREH 1[—| 0| fEHNRAS *EL%_EEP
11:20 AT 1 (—| 4 iBH-Ed T,
. 9:30 R 1—|1 ol e EEET
| 9m1m 11:20 \ﬂ'AEP 4 | —| 2 fTEMmAT BE®ESD
- 9:30 e 2 | —|o EAEH BE@ES
11:20 e R 3|—|0 7 >TC et
. 9:30 BmAE S 2 |—| 4 8RR -E 15 F
j”j om1ag |20 Tl 2 [—] 6 e ET 15 R &
o 9:30 TEMAH 1 —| 1 72T7C ERAR—YAEL
11:20 et /Nzs 0|—| 4 R=——k> ERAR—YNE L
=* 9:30 RS f 3|—|o0 e EEET
+ 9H21H 11:20 EE g 3|—| 2 fTEMmAT BE®ESD
— 9:30 R=—k 1—|1 7270 ERAR—YAEZ
1] 11:20 g /N 1[—1| 3 Rl e B RAR—YAEZ
= 9:30 R=—k> 3| —| 0| (IEIRAS BEmESD
+ 9F 236 11:20 EE g 0|—]| 1 EAAE G EEmET
- 9:30 F72TC 1|—]| 4 R Eh E#
1] 11:20 Eirdh 1|—]| 3 e R H Fh
=* 9:30 e 5| —| 3 7270 EEET
+ 10H58 11:20 EE g 0|—| 2 R=—k> BEEE
= 9:30 TEMAH 11— 7 IER-EH IBRH
1] 11:20 g /Nzz 1 |—] 2 B AE 18 F P
£ 9:30 fTERAG 1|—| 4 e BE®ESD
+ 10H 198 11:20 EEfEg 2 [—]| 2 it /Nz BEET
T 9:30 EAREf 1= 1 7270 E
1] 11:20 e 1 |—12 =l e Er




